DSP Quiz 37 Spring 04  Name:

1. The following LCCDE describes the input-output relationship of a causal, LTI
system; find the impulse response of the h (n) of the system
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2. Determine the impulse response h (n) of the stable LTI system, whose pole-zero
plot is given below; the gain factoris 2
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DSP Quiz 3 & Spring 04 Name:

1. The following LCCDE describes the input-output relationship of a causal, LTI
systemn; find the impulse response of the h (n} of the system.
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2. Determine the impulse response h (n) of the stable LTI system, whose pole-zero
plot is given below; the gain factor is /-
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